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Math 432 Final Exam Review Packet # 1
Name:

1)  Factor completely: x3 - x2 - 6x

2)  Performthe indicated operation and express the result in simplest form:

a®-25 a*-5a

52 4*-10a+25

3)  BExpress in simplest form: Satl 1
at-1 a+l
1
4)  Bxpress in simplest form: ﬂ—&l
2 b
X 8 10

5  Solveforx: —-

6) Iff(x)=x2+x?, find the value of f(2).
2
3
7)  Express in simplest form the value of 2x% + x7 if x = 27.

8)  If(/18+./2) is divided by /2, the result is
A) 10 B) 4 C 3 D) 16

A
9  Bxpress 3 = §as an equivalent fraction with a rational denominator.

-

10) Express 5/-18 + 6,/-98 as a monomial in terms of i.
11) Solve forx: v2x +3=x

12) Which graph is the solution set of |2x-1] <9?

A): it C)ﬂ:._ D
£-4-3-2-1 8612 3 465 S=-4-3-2-1812 3 45

o o

B s a43-2-18123465 D) 5-4-3-2-1 0123465
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13) Solve forallvalues ofx:  |6- x| =4

14) What is the inverse of the function x + 2y + 3=0?

A) y=-2x-3 B) 2x-y+3=0 C) 2y+x+3=0 D) y:—lx-g

15) In the diagram below, the function f(x) = x2 is represented graphically. Which graph below represents the inverse of f(x)?

fix)
F 3
hJ I'x
h J
f(x) fx)
F 3 F 3
A) 4 'y C) i b
| ! | / b
A 4 A
f(x) fx)
F 3 F 3
B) o4 o D) i k
| ! | / i
v v




16)

17)

18)

19)

20)

Which diagram shows a relation that is not a function?

¥ h

V&

|~

Loy

B)

Which function is not one to one?

y 4

A) # » X
‘s

B) ¢ —\\.\\_ » X
v

D) ¢

0)

D)

F 5

The domain for g(x) =5x - 1is -2 £ x £ 2. The smallest value in the range of g(x) is
C) -9

A) 11 B) -11

-2¢+1

aX -

2
For which value of x is f(x) =%

Write the inverse of the given function:

{.3), (-24), (7-2)}

undefined?

D) 9
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X
21) The graph of the equation y =[;‘> lies entirely in
Quadrants
A) llland IV B) land IV C) landll D) llandlll

22) Ifx =52 then the value 5x is
A) 62 B) a+5 c) st D) x+1

23) The probability that Team A will beat Team B in a sporting event is % What is the probability that Team B will win

all three games of a three-game series?

24) If the probability that an event will occur is

Jlr T then the probability that the event will not occur is
X

A) -—— B) x+1 C) 1 x
x+t1 x+1 x+1




